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PART A: Vocabulary

Dfrfﬂfmm: Choose the word or phrase (1), (2), (3), or (4) that best completes Eﬂfﬂ'

sentence. Then mark your answer sheet.

1- Before you ------- --- to the next question, you should take some time to make sure
you’re happy with your answers so far,
1) prescribe 2) precede 3) proceed 4) preface

2- My first day of babysitting was an absolute ---------- : the kids spilled food all over the
kitchen and they wouldn’t listen to anything I had to say.
1) invasion 2) enigma 3) condemnation 4) fiasco

3- We were very unhappy with the --—---- -- way the moving company tossed our boxes
into our new house.
1) haphazard 2) impatient 3) mitial 4) neutral

4- The author used --—------—- when he said the dog was “as big as a house,”
1) shortsightedness 2) hyperbole 3) precision 4) pretension

5- 1 never thought you would get so upset about such a ----—--— matter.
1) contradictory  2) consistent 3) colloquial 4) trivial

6- The police wondered about the man’s -—---—-—-- for committing the crime.
1) inhibition 2) motive 3) impact 4) inspiration

7- While most club members have agreed with the decision, I expect Ricky to ----—-——
forcibly.
1) dissent 2) vanish 3) avoid 4) abate

8- “It is my firm -—---- .'' said the candidate, "that family farms must receive
government help.”
1) speculation 2) safeguard 3) conviction 4) deprivation

9- You’ll have a better chance of finding that unusual word if you look it up in a/an
mmemmeeen (lictionary,

1) skilled 2) publicized 3) cultured 4) unabridged

10- Because the hikers planned to reunite at 4:00 P.M., they paused to --—--- --- their
waiches.
1) illuminate 2) reinforce 3) synchronize 4) chronicle

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

fits each space. Then mark your answer sheet.

Herbicides. also commonly known as weed killers, are pesticides used to kill unwanted plants.
Selective herbicides kill specific targets, (11) ==-e==ae- the desired crop relatively unharmed.
Some of these act by interfering with (12) ===a=anen- and are often synthetic mimics of natural
plant hormones. Herbicides used to clear waste ground. industrial sites. railways and railway
embankments are not selective (13) —————ameee all plant material with which they come into
contact. Smaller quantities are used in forestry. pasture systems, and management of areas
(14) —==mmmmm- as wildlife habitat.

Some plants produce natural herbicides, (15) —===—mv the genus Juglans (walnuts). or the
tree of heaven: such action of natural herbicides. and other related chemical interactions, is
called allelopathy.

11- 1) they leave 2) when left with 3) while leaving 4) by leaving
12- 1) the weed of growth 2) the growth of the weed
3) the weed in growing 4) the growing of weed



13- 1) and kill 2y killer of 3) to kall 4y which kill
14- 1) where set aside 2) in which they are set aside

3) that set aside 4) set aside
15- 1) either 2) such as 3) or 4) includes

PART C: Reading Comprehension

Directions: Read the following three passages and answer the gquestions by choosing the

best choice (1), (2), (3), or (4) and then mark the correct choice on your answer sheet.

PASSAGE I:

Suppose that a task can be done in n; or in n> ways? But that some of the set of n; ways to do
the task are the same as some of the 7> other ways to do the task. In this situation. we cannot
use the sum rule to count the number of ways to do the task. Adding the number of ways to do
the tasks in these two ways leads to an overcount, because the ways to do the task in the ways
that are common are counted twice, To correctly count the number of ways to do the two tasks.
we add the number of ways to do it in one way and the number of ways to do it in the other
way. and then subtract the number of ways to do the task in a way that is both among the set of
no ways and the set of n> ways. This technique is called the principle of inclusion-exclusion.
Sometimes, it is also called the subtraction principle for counting. Also. this principle will be
used to count the permutations of n objects that leave no objects in their original positions.
Consider Example 1 below.

The Hatcheck Problem. A new employee checks the hats of # people at a restaurant.
forgetting to put claim check numbers on the hats. When customers return for their hats, the
checker gives them back hats chosen at random from the remaining hats. What is the
probability that no one receives the correct hat?

A derangement is a permutation of objects that leaves no object in its original position. Let
D, denote the number of derangements of i objects. Note that

D =n!|l-——+———+.+(=1)"
” 1r21 3 n
16- Let us assume a task can be done either in one of ", ways or in one of n,ways. Then
we can use the -—--—--——-- to count the number of ways to do the task.
I') sum rule 2) product rule
3) subtraction principle 4) sum rule subtraction principle
17- A derangement is (a) ;
1) permutation with repetition 2) permutation
3) combination 4) combination with repetition
18- The number of derangements of a set of # objects can be proved by the ----=-eeeeu-u- i

[ ) subtraction principle
2) pigeonhole principle
3) generalized pigeonhole principle
4) generalized inclusion-exclusion principle
19- The number of derangements of the set {1,2,3} is .
1)4 2)3 3)2 4) 1




20- The solution of problem in Example 1 is

D D
1)0 2) Dy, 3) —o 4y —n

n! n

PASSAGE 2:

Pixel positions in the frame buffer are organized as a two-dimensional array of intensity values
corresponding to coordinate screen positions. The number of pixel positions in the raster is
called the resolution of the display processor (or resolution of the frame buffer). Good-quality
raster systems have a resolution of about 1024 by 1024, although higher-resolution systems are
available, Since the resolution of a CRT monitor depends on the size of the phosphor dot that
can be produced. a graphics system may have two resolutions one for the monitor used with the
system and one for the frame buffer. To generate the best-quality pictures. the resolution for
the video monitor should be equal to or higher than the resolution of the frame buffer.

Graphics commands are translated by the scan-conversion process into intensity values for
storage in the frame buffer. In a simple black-and-white system. each screen point is either on
or oft. so only one bit per pixel is needed to control the intensity of screen positions. A bit
value of 1, for example, would mean that the electron beam is to be off. Additional bits are
needed when color and intensity variations can be displayed. Up to 24 or more bits per pixel
are included in high quality systems. although storage requirements for the frame buffer then
get quite high. A system employing 24 bits per pixel with a screen resolution of 1024 by 1024
would require a frame buffer with 3 megabytes of storage.

21- Resolution of frame buffer should be resolution for the video monitor,
1) higher than or equal to 2) higher than
3) exactly the same as 4) less than or equal to

22- Resolution of the frame buffer —-----~-— 5

I) demands 3 megabytes of storage

2) is the number of pixel positions in the raster

3) plays a major role in design of a frame

4) does not have any impact on the quality of picture
23- A resolution of 1024 by 1024 i

1) is too costly for picture presentation

2) demands 3 megabyvtes of storage

3) is not good for colored pictures

4) is good enough for showing good quality pictures
24- The number of bits per pixel -—------—---- :

1) has a direct effect on the storage requirements

2) is unnecessarily big for practical purposes

3) can be as large as 1024

4) is always 1
25- 3 megabytes of storage would be required "

1) if black and white pictures are to be shown

2) for a 1024 by 1024 resolution with 24 bits per pixel

3) to say the least

4) for CRT monitors




PASSAGE 3:

It is necessary here to make a distinction between virtual circuit or datagram operation at the
network layer and virtual circuit or datagram service. The discussion above concerned the
operation of the network layer:; the user of the network layer (usually the transport layer) is
concerned only with the service offered. Since successive packets of a session. using datagram
operation. might travel on different routes. they might appear at the destination out of order.
Thus (assuming that the network layer module at the destination does not reorder the packets).
the service offered by such a network layer allows packets to get out of order. Typically, with
datagram operation. packets are sometimes dropped also. As a result, datagram service is
usually taken to mean that the network layer can deliver packets out of order. can occasionally
fail to deliver packets. and requires no connection phase at the initiation of a session.
Conversely, virtual circuit service is taken to mean that all packets are delivered once. only
once, and in order, but that a connection phase is required on session initiation. We will often
use the term connectionless service in place of datagram service and connection—oriented
service in place of virtual circuit service. We shall see that the difference between
connectionless and connection-oriented service has as much to do with quality of service, flow
control. and error recovery as it does with routing.

26- The service being offered ------—----- -
1) is excellent
2) concerns the transport layer
3) is inappropriate for the transport layer
4) is not adequate for practical purposes
27-  Packets get out of order due to -—- :
1) a bad service
2) unnecessary precautions
3) their travelling on different routes

4) their travelling on the same route

28- Packets may not be delivered because —---—ceeeeee .
1) of datagram operation 2) the service is bad
3) of unnecessary precautions 4) the destination is obscure
29- A connection phase is needed at the initiation of a session 2
1) in a virtual circuit service 2) in a data transferring program
3) in any service 4) for data processing

30- Routing plays a key role in --
I ) any data transformation
2) supporting packet delivery
3) differentiating datagram service and virtual circuit service
4) the connection phase of a service
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while (x #y) do
if x>ythen x=x-y
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int f(int n)
{
if(n=1) return(0);
else
return(f(n—-=)+2);
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test(x,n)
{
t=1;
while (n > 0)}
if((n &1)=1)

t=t*x;
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n=n/2;
)
return(t);
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int F(int n)

{
if(n==1) then
returnl;
else
if(n is even) then
return(1+ F{l—;-}};
else
if(n is odd) then
return F(3n—1);
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192 2 222 1
193 2 223 2
194 3 224 1
195 4 225 3
196 1 226 4
197 1 227 2
198 2 228 3
199 2 229 3
200 3 230 2
201 3 231 1
202 4 232 4
203 2 233 4
204 3 234 2
205 2 235 1
206 2 236 3
207 1 237 1
208 4 238 3
209 3 239 2
210 1 240 4
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